TriAngles™ 3D Circumference Scanner
Laser Support Stand Assembly Instructions V1

Laser Support Stand 1



Disclaimer

TriAngles 3D Scanner Laser Support Stand Version 1 PUBLICATION
TriAngles 3D Scanner Laser Support Stand Version 1 DESIGN
Copyright © 2006-2009 intricad NL

This software and publication pertains to the workings, manufacturing, assembly and
operation of a machine apparatus. This can be a dangerous undertaking. The use of this
software and any information provided is therefore at the users own risk.

In no event shall the author and owner intricad, suppliers nor any related parties that
contributed to the creation, marketing and sale of this publication be liable to any party for
any direct, indirect, special, punitive or consequential damages (including but not limited to,
damages to property, business, person(s), or other pecuniary or loss or claims suits or
causes of action involving alleged infringement of copyrights, patents, trademarks, trade
secrets, or unfair competition), arising out of the availability, use, reliance on, or inability to
use the information contained in this publication.

In addition this applies to any accompanying or further information provided by any
means, or any other damage that may result in any way whatsoever, even if this
organization or owner shall have been advised of the possibility of such damages, and
regardless of the form of action, whether in contract, tort, or otherwise, or for any claim
attributed to errors, omissions, or any other inaccuracies in, or destructive properties of any
information and/or software/hardware material. The author and owner of this software is
under no obligation to provide support, service, corrections, or upgrades to the software
programs. This software is supplied “as is” and no warranty of any kind is attributed to it.

It is the responsibility of the reader of this publication and/or user of the included
software to determine the integrity and required safety precautions regarding the fabrication
techniques, electrical circuits, mechanical construction and software which are described,
explained and provided in this Publication and/or software. This project is only for adults
with basic understanding of electronics and home machining skills. It is certainly not for
children and should be kept out of their reach. If the reader lacks the required skill and/or
knowledge to produce and/or operate the apparatus described then he/she should not
proceed with this project or should seek professional engineering assistance.

The information and software supplied is for educational purposes and not intended
for commercial use. Extensive effort has been undertaken to insure that the information
contained in this manual and the supplied software does not breach any currently protected
art nor intellectual property. To the best of our knowledge it does not as it is based on
technology/art that is now become public domain. However given current practices in
industry this cannot be fully ascertained. Use of this software for commercial purposes is at
the users own risk.

By proceeding to read or use the information contained in this publication and/or
software the user agrees to the above stated.

TriAngles 3D Scanner, Version 2 intricad
TriAngles; 3D Scanner and 3D Builder intricad

All rights reserved. Information subject to change without notice.

Laser Support Stand 2



Table of Contents

Introduction

Tools

Parts List

General Guidelines

Soldering the Laser Leads to the Battery Enclosure
Assembly

Adjusting the Laser

NounhwhNe

Laser Support Stand

(-2« < < N 0, B



1. Introduction

The Laser Support Stand is a simple construction that supports the positioning of an
adjustable focus laser module. A small battery holder with switch supplies the laser module
with power. The battery holder is not attached to the support stand. This is done in order to
prevent moving of the support stand from an aligned position when switching the laser on or
off.

Adjustable Focus Laser supplied by Apinex
LML 3mW, 635nm
www.apinex.com

Do Not Look Into Laser Beam

Laser Support Stand 4



2. Tools

Wire Stripper

Soldering Iron (sharp tip)
Solder (for electronics)
Small pliers

Lighter (for shrink tube)

a P wWN =

3. Parts List

1x 4A
)
0
1x 1A 1x 2A
1 1x 5A
L
1x 3A
1x C1
<
2x C3 1x C2
5 i ®
2x F4
1x F2 1x F3
4x F1 2x Battl

2x F5

Laser Support Stand 5



Qty. Part Name Size (mm) Remark
1 1A Base Plate

1 2A Support Plate

1 3A Side Plate

1 4A Support Bracket

1 5A Clamp Bracket

1 Ci1 Focus Adjustable Laser

1 C2 Battery Enclosure AA

2 C3 Threaded Spacer (black stand-off) M4 x 40

4 F1l Bolt M4 x 12

1 F2 Bolt 6-32X1/2

3 F3 Nut 6-32

2 F4 Washer #6

2 F5 Bolt 6-32X1

2 Battl Battery AA Not Included

4. General Guidelines
3 main aspects must be observed during assembly:

1. The panel material is supplied with a protective layer. This should be removed only when
necessary. The base material is not scratch-resistant.

2. Handel the laser with care. Avoid looking into the laser beam.

3. Before assembly it is advised to first read through the instructions carefully as well as lay
all major parts in position.

5. Soldering the Laser Leads to the Battery Enclosure

Remove about 5mm of insulation from the leads of the laser (C1) and battery
enclosure (C2). Tin all leads with solder using a solder iron. Cut 4 10mm pieces of shrink
tube and slide one over each lead. Hold 2 leads of same color together and solder. Make
sure the shrink tube does not get to close to the soldering or the heat will shrink it. Do the
same for the rest of the leads.

6. Assembly

Peel the protective layer off of the Support Plate (2A) and using bolts (F1) screw on
the 2 40mm black stand off's (C3). Place the Base Plate (1A) into the slot of the Support
Plate (2A) and the slot of the Side Plate (3A) on the other side of the Base Plate. Use bolts
(F1) to fasten the assembly. Attach the Support Bracket (4A) using bolt (F2), washers (F4)
and nut (F3) to the Support Plate (2A).

Laser Support Stand 6




Clamp the laser (C1) to the Support Bracket (4A) using the Clamp Bracket (5A) and
bolts (F5) and nuts (F3). Do not clamp too tight as this can damage the laser. The clamping
force should be enough to hold the laser in a fixed position while still allowing adjustment to
be made.

Laser Support Stand 7



7. Adjusting the Laser

The laser support stand is usually positioned at about 400 mm from the turn table.
The laser line should be focused to the thinnest possible line at this distance. The line should
also be perfectly vertical. It is important that this be done as accurately as possible to insure
good scanning results.

The supplied laser allows focusing by gently turning the brass front piece. Position the
support stand at about 400mm from a wall and turn the brass piece until the thinnest
possible line thickness is attained. The black cylinder portion of the laser must be held in
position during focusing.

To set the line vertically, stick a piece of paper on a wall and using a pencil and Level
Set draw a straight vertical line on it. Move the support stand back to about 3-4 meters and
adjust the position of the laser line by turning the black laser cylinder until it lines up with
the drawn line. It is presumed that the floor or table that the Laser Stand is standing on is
flat and leveled as well.

Laser Support Stand 8



